TH4E7A10B8T SERLARKRERSRS

OIREHER
5 = 1)

X i

ERELAFEEY 11,100 12, 084 23, 184

ERRREER 5,776 6, 013 11, 789

ENRELBEEEY 11 15 26

ENSEER 2 4
&t _

EREMAFERY 11, 111 12, 099 23, 210

BRER 5,178 6,005 11,793 |

BEx 52. 00% 49.71% 50. 81%
SERES ABRENR

LARREER 3,318 3,160 6,478 | EABEAZEERC)
| mBEER 2,373 2,762 5.135 [¢ " )

FEERE 85 91 176 |( " )
BT3B A BRI ARER ) HRRRE S BEE

2 = n 8 = g

EHEE 4,057 4,344 8,401 | 1,970 2, 058 4,028  47.95%
I\NTFHEHT 1,416 1,458 2,874 75 752 1,467  51.04%
%+ BHy 1,022 1,155 2,171 591 501 1,182|  54.20%
=y 1,253 1,362 2, 615 682 688 1,370  52.30%
B FH T 1,902 2,109 4,011 1,001 1,057 2,058  51.31%
vl T 1, 450 1,656 3,106 817 867 1,684]  54.22%
ENESEARE 1 15 26 . 2 4| 15.38%
& & 11, 111 12, 099 23,210 5, 778 6, 015 11,793|  50.81%




